1/17=—2

BE-E (M4F4A6ELK)
1A HTE R
2 SERBRARAE 0 SEIE. BERICRISKRA £ 2.

HS FR MR EE#CEL) FER FRER CE2) AR IE S
19470 |201% S BRREFEN HY (BETIEAL) 4A3H HY (BH59) Eyan=|

19471  |404% B SRR ET HY (BETIEARW) 4A2H HY (BB - REMERT6) E=vag=|

19472 |601% S SR AT HY (BETIEAL) 4848 - TS A b
19473 [104% gogi ELHE HY (BETIEARW) 4A1H HY (F1103) Bl

19474 |30% S KT HY (BETIEAWL) 4828 HY (BH59) Eyan=|

19475 |104% 7 ER™ HY (EFETIEAEL) 4728 - L

19476 |10mAim | B IR R 4848 »HY (HF - REMBKALL L

19477 |10mKi |BiE S RREFTE N HY (BETIEARW) 4A3H »Y) L

19478 |10mAim | B SRR HT HY (BETIEAWL) 4828 HY 3L

19479 |10mki |BiE B RREFTE N HY (BETIEARW) 4A3H »Y) L

19480 |40f% i SR AT HY (BETIEAL) 4A3H HY (BH59) Eyan=|

19481 [704% B B RREFTE N HY (BETIEARW) 4A3H HY (Bii559) N— bR A <—
19482 |40f% S BRREFEN HY (BETIEAL) 4828 HY (BH59) Eyan=|

19483 |304% 7 KT HY (BEFETIEAEL) 4/2H HY) EilzNiEA=]
19484 |10mAim | B SRR HT HY (BETIEAWL) 48 3H HY mL

19485 [204% B SR AT HY (BETIEARL) 4A3H »Y N =]
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= FK ]l BE#(EL FER FAEA (E2) B fih i
19486 |301% Sk BRREFTERN HY (BETIEAEWL) 4A3H HY (EBi559) E=yan—|
19487 |204% St BRREFTEN HY (BETEEW) 4A3H HY (Bi559) =8
19488 |40f% i IR HY (BETIEAL) 4848 HY (EEMmHKLL BifzN:d =]
19489 |504% 7 BRREEA HY (BETIEEW) 481H HY (B - REMRS0) N3]
19490 |30f% i BREBFTERN HY (BETIEAL) 4H4H HY (ZR—VEEN) L
19491 |10/ K | B BRIREFTERN HY (BETIEEW) 4848 HlY) (RR—VEEL9) 7L
19492 [10£% S BREEFERN HY (BETIEAWL) 4A1H HY (ZR—VEEN) mL
19493  |204% St ESpeli) HY (EFETIEAEL) 4A3H HY (Bii559) =8
19494  |501% S KT HY (BETIEAWL) 481H - Egan=|
19495  [504% otk KD ET Y (EETIEARW) 4A3H HY #L
19496 |3014% Eeqis BRREFTEN HY (BETIEAEWL) 3A31H - SifzN:-3=]
19497 |10/ K | B SORET HY (EFETIEAEL) 4848 HY (B - REMRS0) 7L
19498 |10/ A& |Z 1% BRREFTEN HY (BETIEAEW) 4848 HY (B - REMXL0) 7L
19499 |10/ K | B BRIREFTERN HY (BETIEEW) 482H HY (HE - REMRS0) 7L
19500 |10/ |51 BRRETEN HRER 4848 HY (B - REMXL0) 7L
19501 |104% St IR HY (BETEEW) 4848 HY L
19502  [304% B LR ET HY (BETIEARL) 4RA38 »Y) SHE
19503  [104% B &KrhEy HY (BETIEARL) 4A3H HlY) (ZFE—VEH19) B L
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19504 |10/ |21 IR HET RER 4848 HY (FE - REMEX63) 7L
19505  [604% Btk KD ET HY (BETIEARW) 4A3H - BHE
19506  [501% Btk Tt HY (BETIEARL) 3R30H HY Eeyan=|
19507 [204% B REREATE N HY (BETIEARW) 4A3H »Y) SHE
19508  [40f% gt tm HY (BETIEARL) 4A2R - Eeyan=|
19509 [204% B AR EATE N HY (BETIEARL) 4A2H HY (Bii559) E=van=|
19510 |40f% i REMREEFTE W HY (BETIEAWL) 4818 HY Eyan=|
19511 |204% 24 wj ol ki HY (EFETIEAEL) 3B31H - Egan=|
19512 |10mkAim |ZME REMREEFTE R HY (BETIEAWL) 4818 HY 3L
19513 |10m%Ri |2t AR EATE N FREIR 4A4H »Y) L
19514  |401% S HEMREEFTE R HY (BETIEAWL) 4A3H HY 218
19515  [304% gogi REREATE N HY (BETIEARW) 4A3H »Y) N =]
19516 |20f% S ft&m HY (BETIEAWL) 4A3H - Egan=|
19517  [504% gogi feEm HY (BETIEARW) 4A3H - FEnk
19518 |20f% i HEMREEFTE R HY (BETIEAWL) 4818 HY N
19519 |504% 7 PR E HT HlY) (BETIEEW) 4/ 3H HY) SifzNE1=]
19520 |40f% i REMREEFTE R HY (BETIEAL) 4A3H - N
19521  [204% B x|l HY (BETIEARL) 4A3H »Y SHE
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= FK el BE#(EL AELR FAEHCE2) B fih i
19522 |20% S ftE&m HY (BETIEAWL) 4A3H - BilzN:3=]
19523 |304% 7 HEBRIEFTEN HY (BETEEW) 481H HY) SifzN29=]
19524 |10% S FEAN & T HY (BETIEAWL) 48 3H HY) mL
19525 [70f% 7 ks HY (BETIEAWL) 3A28H HY L
19526 |10mAim |BMH = |l 1 HY (BETIEAWL) 4848 - 3L
19527 |107Aum |2C1E ol ki HY (EFETIEAEL) 4A3H HY L
19528 |10mkif |Zi4 =l aly ) HY (BETIEAWL) 4838 HY (XR—VEENLG) mL
19529 |10m%kis | Bk s HY (BETIEARL) 4A3H »Y) L
19530 |10/ |1 REMREEFTE R HY (BETIEAEW) 4A3H HY 7w L
19531 |10m%kis | Bk s HY (BETIEARW) 4A3H »Y) L
19532 [304% B tm HY (BETIEARL) 38298 HY EilzNs]
19533 |10m%Ri |2t s HY (BETIEARW) 4A1H »Y) L
19534 |70% S = |l HY (BETIEAWL) 481H HY 3L
19535 |204% 24 ol ki HY (EFETIEAEL) 4728 HY) E=gan=|
19536 |301% B bl ] HY (EFETIEAEL) 4R 2H HY (EBi559) Ergan=|
19537 |304% 24 wj ol ki HY (EFETIEAEL) 4/ 3H HY) N 3=
19538 [701% gt tm HY (BETIEARL) 4A1R »Y) L
19539 |10m%ki | Bk s HY (BETIEARL) 4A1H - L




5/17_—=%

= FK el BE#(EL AELR FAEHCE2) B fih i
19540 |50% 7 FERREEFTE N HY (BETIEAL) 4838 HY (HFE - REMEKSL) E=zan=]

19541 |10/ |20 HEBRIEFTEN HY (BETIEEW) 4848 HY) L

19542 |601% i REMREEFTE W HY (BETIEAWL) 4818 HY N

19543 |10/ | B HEBRIEFTEN HY (BETIEEW) 3A28H HY mL

19544 |10mAim | B REMREEFTE R HY (BETIEAWL) 3A31H HY 3L

19545 |104% 7 HEBRIEFTEN HY (BETEEW) 481H - L

19546 |201% S tEd HY (BETIEAL) 4828 HY Eyan=|

19547 |404% B bl o} HY (EFETIEAEL) 47818 HY) HFEE
19548 |501% g bt HY (EFETIEAEL) 4R 2H HlY) (HE - REMKTT) L

19549  [204% otk s HY (BETIEARW) 4A3H »Y NR— & A<—
19550 [201% Btk e HY (BETIEARL) 38318 - N3

19551 |304% 7 PEBRIEFTEN HY (BETIEEW) 3A31H HY mL

19552  [304% gt tm HY (BETIEARL) 4A4R - 58

19553 |10/ | B L&5m HY (BETIEEW) 3A31H HY T L

19554  |40f% i ft&m HY (BETIEAWL) 3A31H HY Egan=|

19555 |404% 7 HEBRIEFTEN HY (BETIEEW) 481H HY) L

19556  [204% Eeqis REMREEFTE R HY (BIETIEAEWL) 4821 HY) E=yan—|

19557  [40f% ik L&™ HY (BETIEAWL) 3A31H HY N— bR A< —
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19558  [201% pogi & HY (BETIEARL) 4A1R - Eeyan=|

19559  [404% gogi AR EATE N HY (BETIEARL) 4A1H - E=vag=|

19560 [304% pogi REMREATE N HY (BETIEARL) 4RA38 - NR— & A <—
19561 [304% B REREATE N HY (BETIEARW) 4A3H HY (Bii559) E=vag=|

19562 |40f% 7 tEd HY (BETIEAWL) 4A3H HY 218

19563  [304% gogi AR EATE N HY (BETIEARL) 4A1H »Y) NR— & A<—
19564 |10k |ZME ftE&m HY (BETIEAWL) 4818 - 3L

19565 [404% B x|l HY (BETIEARL) 4A1H »Y HE%

19566  [501% gt tm HY (BETIEARL) 4R28 »Y) EilzN: =]
19567 [504% B x|l HY (BETIEARW) 4A3H »Y SHE

19568 [101% pogi REMREATE N HY (BETIEARL) 438 - L

19569 |10m%ki |BiE AR EATE N HY (BETIEARW) 4A4H »Y) L

19570 |20f% S = |l HY (BETIEAWL) 4828 HY 218

19571  [204% B AR EATE N HY (BETIEARL) 4A1H - E=vag=|

19572 |30f% i HEMREEFTE R HY (BETIEAWL) 4A3H - Egan=|

19573 [304% gogi fe&m HY (BETIEARL) 4A3H »Y NR— & A<—
19574 |704% S ftE&m HY (BIETIEAEWL) 48 3H HY mL

19575  [604% gogi AR AT E N HY (BETIEARW) 4A3H »Y L
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19576 |10f% S PEMREEFTE R R 4848 - 3L
19577 [704% B AR EATE N HY (BETIEARL) 4A1H - FEnk
19578 |20f% 7z tEd HY (BETIEAL) 481H HY BilzN: 9=
19579 |504% B bl o} HY (EFETIEAEL) 3B31H HY) SifzNEA=]
19580 [10£% gt tm HY (BETIEARL) 38318 1Y) L
19581 [204% B x|l HY (BETIEARW) 3R30H Y E=vag=|
19582 |20f% i ft&m HY (BETIEAL) 481H HY 3L
19583 |304% 24 wj ol ki HY (EFETIEAEL) 4/ 3H - Egan=|
19584 |10mAim | B REMREEFTE R HY (BETIEAWL) 4848 HY 3L
19585 |10/ +um | B4 bl o} HY (BETIEEW) 4848 HY L
19586  [10£% Btk REMREATE N HY (BETIEARL) 38318 1Y) EilzNas]
19587 |10m%Ri |t AR EATE N HY (BETIEARW) 3R28H - L
19588 |40t B tm HY (BETIEARL) 4A2R - Eeyan=|
19589 |10m%Ri |Ztk AR EATE N HY (BETIEARW) 3B31H - L
19590 [304% Btk REMREATE N HY (BETIEARL) 4A2R - HEZ%
19591  [504% gogi BN RERTE N HY (BETIEARL) 4A3H HY (BiH57) E=van=|
19592 |40f% S BT HY (BETIEAWL) 4A3H HY BEX
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19593  [404% Sk HMNREFTEA HY (BIETIEAEW) 4A3H HY E=yan—|
19594  |404% St BN HY (BETEEW) 4848 - BEX
19595 [10f% i BN HY (BETIEAWL) 4838 HY (ZR—VEENT) mL
19596 |10+ im | B4 BN HY (EFETIEAEL) 4A3H HY (RR—VEEHLT) 7w L
19597 |10% i BT HY (BETIEAWL) 4848 - 3L
19598 |10/ | Bk BN HY (BETEEW) 4A3H - L
19599 |10m%Ri | &tk B HY (BETIEARL) 438 »Y) L
19600 [104% gogi B HY (BETIEARW) 4R48 HlY) (ZR—VEHLT) #L
19601 |10f% i HMNREFTEA HY (BETIEAWL) 48 3H - 3L
19602 |10%%R#% |5 B HY (BETIEARL) 4R28 HY) (ZR—VEHLT) #L
19603 |10/ |21 HMNREFTEA HY (BETIEAEW) 4848 - L
19604 |304% 7 BN HY (BETEEW) 4A3H - =8
19605 |10A%Ri | &tk BN RERTE N HY (BETIEARL) 438 HY (RE—VEHIT) HL
19606 |3014% St BN HY (BETEEW) 4848 - =8
19607 |40f% i BT HY (BETIEAWL) 4828 HY 218
19608 [104% B B HY (BETIEARW) 4A2H »Y L
19609 |107%Ri% |Bi B HY (BETIEARL) 4A2R HY) L




9/17_—=%

= FK el BE#(EL AELR FAEHCE2) B fih i
19610 |20f% i BT HY (BETIEAL) 4828 - Egan=|
19611 |604% St BN HY (BETEEW) 482H - =8
19612 |501% i BT HY (BETIEAWL) 4828 HY BilzN:9=]
19613 |204% St BN HY (EFETIEAEL) 4728 HY) EilZNiEA=]
19614 |601% i HMNREFTEA HY (BETIEAWL) 4848 HY 218
19615 |204% St BMNGREFTEN HY (BETEEW) 4A3H - =8
19616  [304% pogi B HY (BETIEARL) 4A38 HY) EilzN: =]
19617 |404% St BN HY (BETEEW) 482H HY) BEX%
19618 |40f% S BT HY (BETIEAWL) 4A5H HY 218
19619 |204% St BN HY (BETEEW) 4848 - =8
19620 |40f% S BT HY (BETIEAWL) 4A3H - BEX
19621 |304% St BN HY (BETEEW) 481H - =8
19622 [20£% S BN HY (BETIEAWL) 4848 HY (XR—VEENT) E=zan=]
19623 |3014% 7 BN HY (BETEEW) 4848 HY) SifzN29=]
19624  |40% i BT HY (BETIEAWL) 4848 HY 218
19625 |204% 7 BN HY (BETEEW) 4848 HY) SifzN29=]
19626 |601% Sk BN HY (EFETIEAEL) 3R 30H »HY) E=van=|
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19627 [70£% i BN HY (BETIEAL) 4858 HY (ZR—VEENT) mL

19628 |3014% St BN HY (BEFETIEAEL) 4A5H HY) E=gan=|

19629 [604% B BN HY (BETIEARL) 482H »Y) SHE

19630 |10m%kis |&H B Y (EETIEARW) 458 HY (RE—VEHIT) Bl

19631 |501% Eeqis BINGREFTEN HY (BIETIEAEWL) 4848 - E=yan=|

19632 [504% ik B Y (EETIEARW) 4R48 HY #L

19633  [104% gt BN HY (BETIEARL) 4R4R - L

19634  |404% 7 BN HY (BEFETIEAEL) 4848 HY) E=xan=|

19635 |10A%Ri | &tk BN HY (BETIEARL) 4R4R HY) L

19636  [304% otk B Y (EETIEARW) 4R48 HY (RE—VEHIT) R—h &< —
19637 [70£% S BN | 4858 HY (RR—VEELT) 28

19638 |401% 7 BN HY (BEFETIEAEL) 4848 HlY) (RR—VEEHLT) =B

19639 [40f% S BN HY (BETIEAWL) 4H4H HY (XR—VEENT) E=zan=]

19640 |401% 7 BN AR 4A5H HY) E=gan=|

19641 |601% i BT R 4858 HY A
19642  [304% 2tk B Y (BETIEARW) 4R48 HY (RE—VEHIT) B L

19643 |10mkim | =i BN HY (BETIEAWL) 4H4H HY (ZR—VEENT) L
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19644 |601% i HMNREFTEA HY (BETIEAWL) 4858 - A
19645 |204% 7 BUNREATEN HY (EFETIEAEL) 4848 - =8
19646 |10 &M HMNREFTEA HY (BETIEAWL) 4858 - 3L
19647 |10/ |Z1% BUNREATEN HY (EFETIEAEL) 4A5H - L
19648 |10mkim | B BN HY (BETIEAWL) 4858 HY (XR—VEENT) L
19649 |504% 7 BN HY (EFETIEAEL) 4748 - N 3=
19650 [304% gt BN HY (BETIEARL) 4A38 HY) L
19651 |804% 7 —Bm HY (BETEEW) 3A28H HY FHE - REEXRTD 7L
19652 |40f% i —E HY (BETIEAWL) 4828 - Egan=|
19653 |204% St R HT HY (BEFETIEAEL) 4848 - =8
19654  |50% i —B9m HY (BETIEAWL) 4A1H HY (XR—VEENLD) E=zan=]

19655 [104% B —Bm HY (BETIEARW) 4R48 HlY) (ZR—VEHI5) B L

19656 [304% gt —Bah HY (BETIEARL) 4A18 - NR— k& A <—
19657 |10/ |21 —BEREMEA HY (BETIEEW) 482H - L

19658 [304% B —Bah HY (BETIEARL) 4R58 - SHE

19659 [204% 2tk —Rdh HY (BETIEARW) 4R28 - #L

19660 [104% B —BEIREAEN HY (BETIEARL) 3A31AH - L

11 -
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19661 |501% 7 —BREFEN HY (BIETIEAEW) 481H - N3]
19662 |10/ |Z1% —Bgm HY (BETIEEW) 4A3H HY (B - REMKRS3) 7L
19663 |10/ |21 —Bgm HY (BETIEAEWL) 483H HY (BB - REMES3) 7L
19664 |3014% 7 —Bgm HY (BETIEEW) 4A3H HY (BB - REMXRS3) BilzN:Eg=|
19665 |10/ |1 —BREFEN HY (BETIEAEW) 483H HY (BB - REMES3) 7L
19666 |10/ |Z0% —Bm HY (BETEEW) 482H HY (B - REMXS3) 7L
19667 |201% i —E HY (BETIEAWL) 4848 HY (HFE - REMEKS3) BifzN:d =]
19668 |10/ |Z1% —Bm HY (BETEEW) 482H HY (B - REMXS3) 7L
19669 |10/ |1 —Bgm HY (BETIEAEW) 483H HY (BB - REMES3) 7L
19670 |10/ |Z0i% —Bm HY (BETEEW) 482H HY (B - REMXRS3) 7L
19671 |104% i —E HY (BETIEAWL) 481H HY 218
19672 |304% 7 —Bm HY (BETEEW) 481H HY) Eyad=|
19673 |604% pogi —Bm HY (BETIEARL) 4A4R HY) NR— k& A<—
19674 |90mE M F | %tk —Bm FREIR 4A5H ) L
19675 |604% Btk —Bm HY (BETIEARL) 38318 1Y) L
19676  |604% gogi —Bm HY (BETIEARW) 4A3H »Y L
19677 [10£% S —BIREATE XN HY (BETIEAWL) 4818 HY (XR—VEEND) L

12 -
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19678 |104% B4 —BEREFRERN HY (BETIEHRW) 4A3H HY (RE—VFE1L5) L

19679 (504t 4 —BEREEN HY (EETIEAEW) 4831 HY (RAR—VEH15) NR— k& A <—
19680 (501t B —BREREN HY (BETIEAEL) 4A3H Y Eva=|

19681 (104t E=HES —BEREREN HY (EETIEAEW) 3829H HY L

19682 |401% peqis —Bg EAEIR 4B5H HY (RE—VEE15) S8

19683 [104% E=HES —BERREEN HY (EETIEARW) 3829H - v =]

19684 |404% B KARET HY (BETIEHRW) 4R1H - SHE

19685 |90k Lk | B KANET HY (EETIEAEW) 4848 - L

19686 [104% B EEREEN HY (BETIEAEL) AB4H Y AL

19687 [104% g=qid B (BHREFFEN) HY) (BEETIEHW) 4838 HY (FRK103) Bl

19688 (301t B ABAREFTE N HY (BETIEAL) 48?2H - Eva=|

19689 (504t 4 AZ(REFTEN HY (EETIEAEW) 4828 &Y e =]

19690 (204t B ABAREFTE N HY (BETIEAEL) 3A30H HY NHEE

19691 (104t E=HES AZ(REFTEN NN 4831 HY L

- 13-
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19692 [304% pogi AIRBFTE N HY (BETIEARL) 38278 HY N3]
19693  [504% gogi ATIREFTE N HY (BETIEARL) 4A2H »Y) L
19694  |40f% i ARREFTERN HY (BETIEAL) 4A3H HY BEX
19695 [104% B ATEIREFTE N HY (BETIEARW) 4A3H »Y) L
19696 |10/ |1 ARREFTEN HY (BIETIEAEW) 482H HY (BB - REMRBL) 7L
19697 |10m%Ri |t ATEIREFTE N FREIR 4A3H HY (BB - REMERL) HL
19698 |10/ |1 P HY (BETIEAEWL) 4A3H HY (BB - REMERBL) 7L
19699 |10m%RiH |t AFEH HY (BETIEARW) 4A3H HY (BB - REMERL) HL
19700 |10m%kiH |B1E ARIREFTEN SRR 4A38 HY (BB - REMEHL) HL
19701 |10m%kis | Bk ATEIREFTE N HY (BETIEARW) 4A3H HY (BB - REMERL) HL
19702  [40£% S ARRBFIEN HY (BETIEAWL) 4A1H HY (HE - REMHEKL) Bilzyz3=]
19703  [304% gogi AFEH HY (BETIEARL) 3B31H HlY (BB - REMEKRS) EilZN:g=]
19704  [20£% i ARRBFIEN HY (BETIEAWL) 4A2H HY (HFE - REMHEKL) BilzNE3=]
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19705 (601X i AR™ HY (BIETIEAEWL) 4828 HY (HFE - REMEKL) W= & A~ —
19706 |504% 7 AT HY (BETIEEW) 482H HY (BB - REMRSL) BilzN:Eg=|
19707 |40f% S AR™ HY (BETIEAWL) 3827H HY NBE

19708  [104% gogi AFEH HY (BETIEARW) 3B29A 1Y) #L

19709 [10% S AR FESNEVN 4838 HY (R84 mL

19710 [104% gogi AFET HY (BETIEARW) 3B29A HY (R4 L

19711 |10m&kim | B AFEH HY (BETIEAWL) 3A29H HY (RE4) mL

19712 |304% S ARREFTEN HY (BETEEW) 482H HY) Eyad=|

19713  |10m&im | B ARREFTEN HY (BETIEAWL) 4828 HY 3L

19714 |10/ K0 | B ARREFTEN HY (BETEEW) 4A3H HY) L

19715 |10m&im | B ARREFEN HY (BETIEAWL) 4828 HY 3L

19716  |504% 7 ARREFTEN HY (BETIEEW) 4A3H HY) SifzN29=]

19717 |10 |ZME ARREFTEN HY (BETIEAWL) 481H HY (HFE - REMHEKL) 7L
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19718 [30f% S FEEFET HY (BETIEAWL) 4848 HY 218
19719 |10mki | Bk ATEIREFTE N HY (BETIEARW) 4A4H HY (BB - REMERL) HL
19720 |10k |ZME ARREFTEN HY (BETIEAWL) 4A3H HY (HFE - REMEKL) L
19721 |10m%ki | Bk ATEIREFTE N HY (BETIEARW) 4A1H HY (BB - REMERL) HL
19722 |80f% i ARREBEFTERN HY (BETIEAWL) 4848 HY (SEHEMER26) L
19723 [704% gogi ATIREFTE N HY (BETIEARL) 4A4H HY (BEEHE26) HL
19724 [304% pogi ATIRBFTE N HY (BETIEARL) 4A2R HY (BEEHEX26) BilENi=]
19725  |404% B AFEH HY (BETIEARW) 4A5H - BileNiE=]
19726 [504% pogi ATIRBFTE N HY (BETIEARL) 4A4R HY (BEEHEX26) BilENi=]
19727 |10m%Ri |2t AFEH HY (BETIEARW) 4A1H HY (BB - REMERL) HL
19728 [30f% i ARREFTERN HY (BETIEAWL) 4828 HY 3L
19729  [104% B ATEIREFTE N HY (BETIEARW) 4A2H - L
19730 |20f% S AR™ HY (BETIEAWL) 481H HY 218
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19731 |20k (BEEETIEARLY) 48 3H

19732  |40f% B4 (ARRBITEN) (BETIEALY) 4848

19733 |40k ARREFTERN (BEEETIEARLY) 4848

19734 |401% ARREFTEN (EETIEAHLY) 3A31H N3]

19735 [50f% —Fh (BEETIEARLY) 4A3H NBE

19736 [304% —Fm (EETIEALY) 4A5H E=van=|




